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MEE 1-1
1. 7’u s rha—R

#include<stdio.h>
int main(void){
int 1,j,sum;

for( = 1;i<=10000si++){
sum = 0;
for( = 1;j < i;j++){
ifG % j == ON
sum +=j;
}

ifG == sum){
printf("%d¥n",1);
}
}
return 0;

}

2. FATHR

$ . /ip1-1
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8128

iR 1-2
3. a7 hrha—FR

#include<stdio.h>
int main(void){
int n;
printf("'n =");
scanf("%d",&n);

int 1,j,k,1,m;
for(i = 15i <= nji++{
for(j = 15j <= mj++){
for(k = 1;k <= ;k++)1
for(l = 1;1 <= j;l++)1

printf("*");
for(m = 1;m <= n-jm++){
printf(" ");
}
printf("¥n");
}
return 0;

}




4. FATHRER

(hk011075@red99 ~/IP]$ ./ip1-2
n=1
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n=4
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3. & 1-3
5. Va7 ha—FR

#include<stdio.h>

#include<math.h>

int main(void){
printf('n =");
int n;

scanf("%d",&n);

double w(n],d[nl;

int i;

for(i = Osi<nii++){
printf("w[%d] = ",1);
scanf("%1f", &wlil);
printf("d[%d] = ",);
scanf("%1f", &dlil);

}

double dg;
double d1=0.0,d2=0.0;
for(i = Oyi<n;i++){
d1 +=wlil * dlil;
d2 += wlil;
}
dg=d1/d2;
printf("dg : %.6f¥n",dg);

int nn = 0;
double dnn = fabs(d[0]-dg);
for(i = Li<n;i++H1
if(dnn > fabs(d[i] - dg)){
dnn = fabs(d[il- dg);
nn =i
}

}
printf("Nearest neighbor : %f¥n",w[nnl);

return 0;

4.14 6. FATHER

[hk011075@red99 ~/IP]$ ./ip1-3
n=3

wl0] = 2.4

dlol =3.2

wl1]=6.8

dl1]=4.3

wl2] =8.8

dl2l=5.1

dg : 4.544444

Nearest neighbor : 6.800000
[hk011075@red99 ~/IP]$ ./ip1-3
n=>5

wl0] = 2.3

dlo] =8.2

wl[1]=3.9

dlil=1.0

wl2] =15.3

d[2] =23.8

wl3l=17.5

dl3] =2.2

wl4] =5.3

dl4] =4.9

dg: 12.518076

Nearest neighbor : 2.300000




